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Introduction to Bivariate Data – Exercise

I.
Identify which variable is the response and guess whether the relationship is positive or negative.


1.
A study has shown then number of accidents (A) that occur in a factory is related to the time (T) since a shift began.




response: ______




Positive (+) or Negative (–) ______

2.
An experiment is conducted to determine the relationship between the time it takes for a chemical reaction (R) to complete in a solution and the temperature (T) of the solution.




response: ______




Positive (+) or Negative (–) ______

3.
A sociologist did a study and found that there is a relationship between the median income levels (I) in US counties and the vaccination rate of children entering kindergarten (V).




response: ______




Positive (+) or Negative (–) ______

II.
For bivariate data, match one of the following with the description below.



a.  scatterplot   b.  correlation coefficient   c.  regression equation   

____
1.
A measure of linear association.

____
2.
What we use to try to determine if the two variables are related and how.

____
3.
The mathematical model we use to predict a value of the response.


III.
The following are correlation coefficients for the response variable, “used price” of a used Honda Accord, and three different predictor variables “age”, “mileage”, and “new price”.



(age, used price), r = – 0.43



(mileage, used price), r = – 0.68



(new price, used price), r = 0.32


1.
Which predictor variable is the worst at predicting used price?
__________


2.
Which predictor variable is best at predicting used price?
__________


IV.
Match the scatterplot to the correlation coefficient, the calculated correlations are approximately 
a)  0.66,    b)  0.05,    c)  –0.48,    d)  –0.88


1.   ____
2.   ____
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3.   ____
4.   ____
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V.
Make a rough sketch of a scatterplot where:

1.
The two variables are not related in any way.



2.
The two variables are strongly related but not in a linearly. 
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